Efficiency vs P,

~ 0.1p -
a o :
£ 0.09F -frrrerieeee s R SRRLRRILES
a\ E N
A e R S
B 0.07F fiereriseeeeneeens LA SRt
() - :
0.06F -f{{:+eeiererererenes e
0.0BF - ++-ieeeeenens IR IE ST
0.04F fromen T TP
0.03F - Fieerereeeene R SETRE
0.02F fromenn T TP
0.0T -+ F-gipdp oo b
° J..GE o T TP Y
st
& b HAFHFHAH - f g
1:—- -1»-1!5----0 --------- ' ------------

=

o
iN

A

0 18 el

—— D VECTTOT_1000EVT
—e— D | e t

—— D | 4 1'00 ev

—_— %

=0.05
©.045
80.04
o
9.035
5
0.03
0.025
0.02
0.015
0.01
0.005

......................................

............................

............................

Ratio

o

©

|a1

wlllllllllllll

|

N

| prrrrterrrrer = e
= g g
o

=

N

w

Efficiency vs @

- B - gt - gt - -l

i3




	Contents
	Page 1


